N=—l—

i XH(ER) LN
ST.HANS GROUP o ka7

ALPHA
4 "o

Ac SERIES

STAINLESS STEELL
RACK & PINION ACTUATOR




ALPHA A BFETSINGE [—

Ac Series
Stainless Steel Actuator

AcRF| A HHMRITR

* 304, 304L. 316+ 316L FRAFAH i AT 5, * ASTM 304, 304L, 316, 316L stainless steel
ShE WP, K EN, FEARMEAL %, pneumatic actuator with electro-polish finish
: . e offer excellent resistance to most corrosive
ﬁ?fhﬁ %%}k‘ﬂ%‘éﬁ £ . chemicals as well as industrial atmospheres.

* RE R EF B, AHRR RRE * Dual piston rack and pinion design for compact
EAbAR. AT e TR, R FaK, construction, symmetric mounting position,
AR IR, high-cycle life and fast operation, reverse

« ERELETOELT LM ARFHR, 4k rotation can be accomplished in the field by
Y. BIRA K. AR AR, simply inverting the pistons.

A KT R ERE. THEGR. P * Multiple bearings and guides on racks and

i Al ’ ’ pistons, low friction, high cycle life and prevent
EIERAEE shaft blowout.

« K Ehw LK Fe s 5, SR £ * Modular preloaded spring cartridge design, with
¥ ES, Wdh &k, coated spring for simple versatile range,

« FHEMEE M, b 20, FBIRER, greater safely and corrosion resistance, longer

AT —— Rk il . 5

* Precise machined teeth on piston and pinion for
Ac M4 E accurate low backlash rack and pinion
T it A ] B P AR R Ko engagement, high transmission precision,

« KR B FRALE R maximum efficiency.

Bk b, 8230, * Stainless steel fasteners for long term corrosion
T %3 3L R 45 & NAMUR A7t reaio. |

4 . e * A model — one-way adjustment
Uk B R4 & NAMUR 47 ; Ac model —— double adjustment
IR FALR T4 6 1SO 5211, Can meet the needs of different customers.
DIN 3337 #7At, 71849 % Wbt 8 FRAL F # 5 * Full conformance to the latest specifications:
A ISO 5211, DIN 3337 and Namur or product

interchangeability and easy mounting of
solenoids, limit switches and other accessories.



g\

Ac Senes Stainless Steel Actuator

£ 23 Operating Principle

CCw

0° close

AD#HS, ERZSBHNEE
GSMES, fEHITE A
I §HiER(0°—90%), BOHIR.

BO#S, EESSHEFE
BIRIESN, #3077 28 4t 4h
B §HERE(90°—0%), ADHIS,

BIEAHITEE Spring Return Actuators

Air to Port A forces the pistons
outwards, causing the pinion to
turn counterclockwise while the
air is being exhausted from Port B.

Air to Port B forces the pistons
inwards, causing the pinion to
turn clockwise while the air is
being exhausted from Port A.

ccw

0° close

ADHS EREESTREER,

HEFEEMINEE, HITHE
Hahi¥ Bt $H4%£50(0°—90°), BO
S

MITHREAS, FEAHEELN
ERATEAER, #iTesHmd
I B 4% 5h(90°—0%), ADHE

o

Air to port A forces the pistons
outwards, causing the springs
to compress, The pinion turns
counterclockwise while air is
being exhausted from port B.

Loss of air pressure on port A,
the stored energy in the springs
forces the pistons inwards. The
pinion turns clockwise while air
is being exhausted from port A.

\Jl:lll_r

90° open

AD#HS, RE=SHFNEE
mSMEE, fEHITEE H IR
K §HiE#(90°—0°), BOHS.

BO#S, EHE=SHEEE
B RER, {EHiT8% i
B EHRERE(0°—90°), ADHS.

0° close

Air to Port A forces the pistons
outwards, causing the pinion
to turn clockwise while the air
is being exhausted from Port B.

Air to Port B forces the pistons
inwards, causing the pinion to
turn counterclockwise while
the air is being exhausted
from Port A.

90° open

AD#S ERESREES,
HAEEBIMES, HITHER
H 4 IR ES £+ ¥ 50(90°—0°), B
OHS,

MITSRES, TECHEELN
fEB T mMAEs, MiTesmt
i B EHEEN(0°—90%), AD
5o

0° close

Air to port B forces the pistons
outwards, causing the springs
to compress, The pinion turns
counterclockwise while air is
being exhausted from port B.

Loss of air pressure on port A,
the stored energy in the
springs forces the pistons
inwards. The pinion turns
clockwise while air is being
exhausted from port A.



/'2.-\ .
ALPHA AcBTERTINGE

Parts and Materials

4 fa #f #

20 19 18 1716 15 14
A S Mdel ;: Ac45-Ac160

¥ 2 No. 4 FR Description # 2 Qty. # ¥l Standards Material
1 &2 44T Indicator Screw 1 TF2#E Polyoxymethylene
2 {5728 Indicator 1 Ti2#E Polyoxymethylene
3 R4 Circlip 1 51 (304/316) Stainless Steel (304/316)
4 #E Thrust Washer 1 519 (304/316)  Stainless Steel (304/316)
5 SMEKF Qutside Washer 1 TEEL Polyoxymethylene
6 HI{4 Body 1 A~$E 4 (CF8/CF8M) Stainless Steel (CF&/CF&M)
7 AEH Inside Washer 1 TF2#% Polyoxymethylene
8 & Cam 1 A EH (304/316) Stainless Steel (304/316)
9 F#OZE O-ring (Pinion Top) 1 WM/ T REEATE T RS Viton/NBR/LNBR
10 F4h= 2R Bearing (Pinion Top) 1 T72#% Polyoxymethylene
11 4h Pinion 1 AEET (304/316) Stainless Steel (304/316)
12 T 52 Bearing (Pinion Bottom) 1 TIFEL Polyoxymethylene
13 TH#OZE O-ring (Pinion Bottom) 1 WERE/TREEATUE TS Viton/NBR/LNBR
14 =3k Plug 2 IR T BRI ARIR T BRSRAL Viton/NBR/LNBR
15 i&3E Piston 2 4§50 (CF8/CF8M) Stainless Steel (CF&/CF8M)
16 i3 2 Bearing (Piston) 2 TF2#%l Polyoxymethylene
17 SEZEOEE O-ring (Piston) 2 BESETHESEATE T RS Viton/NBR/ANBR
18 #E Spring * N Spring Steel
19 i #E O®E O-ring (End-Cap) 2 WERE/TRREATE T RS Viton/NBR/LNBR
20 i 7 B EUEET End-Cap Screw 8 7§59 (304/316) Stainless Steel (304/316)
21 im= End-Cap 2 E5 M (CF8/CF8M)  Stainless Steel (CF&/CF8M)
22 PROZEZET Limit screw 2 5 (304) Stainless Steel (304)
23 FRATEERF Limit Nut 2 A~$5%M (304) Stainless Steel (304)
24 TEZE SR Guide (Piston) 2 TF2#%l Polyoxymethylene
25 AT 4EH Adjust Screw 2 E5H (304/316)  Stainless Steel (304/316)
26 1E 75484 Nut (Adjust Screw) 2 E5H (304/316) Stainless Steel (304/316)
27 A IEE0RE O-ring (Adjust Nut) 2 WERE/TREEMTE TS Viton/NBR/LNBR



A& Mdel :
¥ = No.
1

00~ O s W

11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28

Ac Senes Stainless Steel Actuator

18 19 20 21

171615 14

Ac190-Ac240
4 &R Description
SREREEET Indicator Screw
§7~2% Indicator
HPERLE Circlip
K Thrust Washer
4B K Outside Washer
i alff Middle Body
MRS Inside Washer
¥ Cam
FEB0OEE O-ring (Pinion Top)
442 B Bearing (Pinion Top)
3 Pinion
#4552 E Bearing (Pinion Bottom)
TiOAEE O-ring (Pinion Bottom)
j53E Piston
iHIEOAE O-ring (Piston)
iS22 B Bearing (Piston)
fll{£0% B O-ring (Lateral Body)
%% EF T End-Cap Screw
%% End-Cap
#HE Spring
A4 Adjust Screw
AT Adjust Nut
i&3EFHR Guide (Piston)
A EHOEE O-ring (Adjust Nut)
NAMURZ #4404 Adapter Plate Assembly
{4 Lateral Body
i %0%E O-ring (End-Cap)
EHALAM Pipe Connector Assembly

22 2324

-

= —

=<4
1
1
1
1
1
1
1
1
1
1
1
1
1
2
2
2
2
8
2
*

[T S S T ST ST ST S )

|
-
|

# #l Standards Material
Ti#EH Polyoxymethylene
TH2## Polyoxymethylene
A% (304/316) Stainless Steel (304/316)
554 (304/316) Stainless Steel (304/316)
Ti#EH Polyoxymethylene
EE (F304/F316) Stainless Steel (F304/F316)
T Polyoxymethylene
A% (304/316) Stainless Steel (304/316)
TR T R EARE T B Viton/NBR/LNBR
TIR#% Polyoxymethylene
A% (304/316) Stainless Steel
TiEHEH Polyoxymethylene
TR T R E/ARE T B Viton/NBR/LNBR
554 (CF&/CF8M) Stainless Steel (CF&/CF8M)
FERR T B ERE T B Viton/NBR/LNBR
IiEHEH Polyoxymethylene
TR T AR E/RE TR Viton/NBR/LNBR
5549 (304/316) Stainless Steel (304/316)
5549 (304/316) Stainless Steel (304/316)
%D Spring Steel
A9 (304/316) Stainless Steel (304/316)
A9 (304/316) Stainless Steel (304/316)
TFR¥# Polyoxymethylene
TR T BRE/ARE T BB Viton/NBR/LNBR
F5E9 (304/316) Stainless Steel (304/316)
F4E9 (F304/F316) Stainless Steel (F304/F316)
TR T B E/RE T B Viton/NBR/LNBR
A9 (304/316) Stainless Steel (304/316)



/'R."‘\ =
ALPHA Y ULLALL UL

2 A R Dimension

S Mdel : Ac45-Ac160

i
r—-“:E TN

=]
—]

Ll

|

([
)

s

[




:\

Ac Senes Stainless Steel Actuator

ALPHA
e

FE Mdel : Ac190-Ac240
450
e %Zj
INlES
N2
| __'I
oP H
c F
i [l o = =
:|
H
6859 e S
= P
H
L H o
Z A B
1
40
24 20
1 i) I i ’fﬂﬁ“
a 7
o | | _E}_ WL \\
ENY W :
A, PP
(L]
. _G}_ A\
ée 2xG1/4
5 B8t : i §
el | [
AxMExE 2xG1/2 A4xMEx8
Lo NAMUR G1/4 NAMUR G1/2 NAMUR
WEModel| A | B | C | D | E| F | 6 | H J K M N P | Q| Z
GAc45 | 28 | 40 | ®40| 67 | 87 | 45 | 30 | 80 | ®36 | ®50  M5x8 | M6x10 11 | 14 | 150
GAc60 | 36 | 44 40| 83 | 103 | 52 | 30 | 80 | ®36 | ®50 M5x8 M6x10 14 | 17 165
GAc85 | 49 | 54 | ®40| 110 | 130 | 64 | 30 | 80 | ®50 | ®70 Méx10 M8x12 17 | 22 | 203
GAc-105 | 60 | 63 | ®40 | 135 | 155 | 75 | 30 | 80 | ®70 | ®102 Mexi2 M10x16 22 | 26 256
aAc-125 | 70 | 69 | ®55| 157 | 177 | 92 | 30 | 130 | @70 | ©102 | M8x12 \M10x16| 22 | 26 | 282
aAc-140 | 77 | 75 | ©55| 174 | 204 | 105 | 30 | 130 | ©102 | ®125 M10x16 M12x20 27 | 32 | 365
0Ac-160 | 88 | 82 | ®55| 198 | 228 | 116 | 30 | 130 | ®102 | ®125 M10x16 M12x20] 27 | 32 | 425
GAc-190 | 133 | 142 | ©80 | 234 | 264 | 147 | 30 | 130 | - | ®140 - M16x24 36 | 40 575
aAc210 | 143 | 152 | ®80 | 256 | 286 | 154 | 30 | 130 | - | ®140 - |M16x24| 36 | 40 | 575
aAc-240 | 160 | 170 | ®80 | 288 | 318 | 174 | 30 | 130 | - | ®165 - |M20x25 46 | 50 | 650




e
ALPHA
=1

AcETENTINTE

WIERBLITRREE %8
Output Torque of Double

Acting Actuators

AcRIISEHITRIERBHAER

A

7

Wy HE
Output Torque

Output Torque with Double Acting

78
Rotation

[r—

0°

45°

90°

|

//=

Output Torque Table of Ac Series Pneumatic Actuators with DoubleActing Unit: Nm
SJEEH () Air pressure(Bar)
s y (E2) Airp re(
Model 2 25 3 4 45 5 55 6 7 8
aAc-45DA 6.0 76 9.1 12.1 136 15.1 16.6 18.1 21.1 242
aAc-60DA 14.2 178 213 284 320 355 39.1 426 497 56.8
aAc-85DA 30.8 385 46.2 61.6 69.4 T 84.8 925 107.9 123.3
aAc-105DA 65.8 822 987 1316 1480 | 1644 | 1809 | 197.3 | 2302 | 2631
aAc-125DA 103 128 154 205 231 256 282 308 359 410
aAc-140DA 175 219 263 351 395 439 482 526 614 702
aAc-160DA 267 334 401 535 601 668 735 802 935 1069
aAc-190DA 426 532 638 851 958 1064 1170 | 1277 1490 1702
aAc-210DA 526 658 789 1052 1184 1316 1447 | 1579 1842 2105
aAc-240DA 770 962 1154 1539 1731 1924 2116 | 2309 2693 3078
A4 Output Torque with Spring Return
BERAHITEERE NE
Output Torque of Spring Return Actuators
A WihiE \ WHA%E
Output Torque Output Torque
eLE R R e
Rotation Rotation
0° 45° 90° 0° 45° 90° o



D
e Ac Series Stainless Steel Actuator .

AcR T BIERSEPITER I H HER

Qutput Torque of Ac Series Pneumatic Actuator with Spring Return

unit: Nm

SiREN(E) Air pressure(Bar)
145 ﬁﬁfﬂﬁ i 25 3 4 5 6 7 8 s%?h?;%ﬂﬁ
(Model) | SPing | oo T g0e | 0o [ goo | 0° | 90 | 0° | 90° | 0° | e0° | ©0° | 90°| 0° | 90°| o0° | 90°| g0 | 0°
Q- St | End | Skl End)| Btut | Bnd)| Skt | End | Siat | End | Skt | End)| &t | Endt] St Bnd | St | Ead
5 |80 12 46| 28 46 | 29

aAc-455R

aAc-60SR

aAc-855R

aAc-1058R

aAc-125S8R

aAc-140SR

aAc-160R




ALIPHA AcEFENTIATE

//_—

unit: Nm
SIREA(E) Air pressure(Bar)
S T HIAR
#l#&(Model) ﬁﬁﬂﬁ : G 2 * i, R ? 8 Springs'output
(Spring "= g0 | 0° | 90° | 0° | 90° | 0° |90° | ©° | 90° | 0° | 90°| ©° | 90° | ©° | 90° | 90° | 0°
Q) [Start| End | Start| End Start | End | Start End | Start | End | Start| End Start | End  Start| End | Start| End
ammnaes | oo | [N [0 I | SRS | R L. M 309 [ 160
6 292 | 161 | 398 | 267 371 | 200
7 358 | 205 | 571 | 418 433 | 240
& | I I s ] NI 1 s81 Jlfase |Ias | g69. | I LSRR | | 495 | 260
9 491 | 295 | 704 | 507 | 917 | 720 557 | 320
e TR e el 664 | 446 | 877 | 658 | 1090 | 871 | 1302 | 1084 | 618 | 360
][ 624 ] 384 | 857 | 57 | 1050 | 808 |1263] 1022 | 680 | 400
12 797 | 535 | 1010 | 748 1223 | 960 | 742 | 440
5 237 | 126 | 369 | 258 360 | 260
colugml ol - . ST 78 U e [ |~ | e ol - 432 | 313
oo |l el LG JOIN ESSURRGA L sledds | TR DI E ) TR A | M 503 | 365
QAC-210SR | ----- 8 LR ST BaSRIEETT | TR | e e el | il | 575 | 417
9 531 | 333 | 795 | 597 | 1058 | 860 647 | 469
10 737 | 517 | 1000 | 780 1263 | 1043 | 1526 | 1306| 709 | 521
v |1 L 1 L 1 1 1 |sere|asr | 942 | 700 | 1205 | 963 | 1468 | 1226| 791 | 573
12 884 | 620 | 1147 | 883 1410 | 1146 | 863 | 625
5 341 | 190 | 552 | 409 554 | 410
| ____ 60— — A0 || 2947bo% [hABY | TWET 1 S R | - | ST || ARL
. T e . | aBgIEarD | 964 | 764 HiEe IS ——— a1 L = | &5,
QAC-2A0SH |- DO I N S . TN 883, | 6ndpiEaey. | 105 % ") “CTRSIE SR W WONl, W e By p b
9 800 542 1185 | 926 | 1569 | 1311 998 | 739
Bl R e b | 1103 | 816 | 1488 | 1201 1872 | 1586 2257 | 1970 | 1108 | 821
| R B [ | 1021 | 705 | 1406 | 1090 | 1791 | 1471 2176 | 1859 | 1213 | 303
12 1323 | 979 | 1708 | 1363 2093 | 1748 | 1330 | 985

1. ERNR:
EERS. TEBHMESIE,
2. [&H36HE:
MIEM2~8E (Bar) , #{EMH2~8E (Bar)
3. ITERE:
FoAER ({FATRER0ERE ) -20°C ~ +80°C
RRE ({FRMET RFROERE ) -40°C ~ +80°C
SRE ({FRERROEE ) -15C ~ +150°C
4. T2,
A B, Em 45 T,
AcBl, FFEfr+5° O
5.0 &
HERTIEEZFHT, THERIEDEF,

6. % k&
EESERNITIREK;

7. BEEFEREN:
BWASE B0 ( Bar) o

2

4.

5.

6

# K4  Operating Conditions

. Operating media

Dry or lubricated air, the non-corrosive gases.

. Air supply pressure

Double acting: 2 ~ 8 Bar; Spring return: 2 ~ 8 Bar

. Operating temperature

Standard: -20°C ~ +80°C

Low temperature: -40°C ~ +80°C
High temperature: -15°C ~ +150°C
Travel adjustment

A model, Have one-way adjustment range of +5°;

Ac model, Have double adjustment range of £5°.
Lubrication

Under normal operating condition, need not accrete lubricant.

. Application

Either indoor or outdoor.

. Highest pressure

The maximum input pressure is 10 Bar.

-9-



e
*\ Ae Seres Stainless Steel Actuator ALPHA

Air Consumption

BS FrmFiR FEFFR

Model Volume Opening Volume Closing
aAc-45 0.08 0.11
aAc-60 0.2 0.23
aAc-85 0.41 0.55
aAc-105 0.94 1.18
aAc-125 1.47 1.85
aAc-140 243 32
aAc-160 3.65 5.03
aAc-190 59 78
aAc-210 74 97
aAc-240 11 13.8

FESEPATHSEH. FERGR. $RRSERETENT:

F/or=SE1F ( FEFR+REER) <[ (#SED (Kpa) +101.3) +101.3] x REYH

Air consumption rest with Air Supply. Air volume and Action cycle times, expressions:

L/Min=Air volume(Air volume Opening +Air volume closing)x[(Air Supply(Kpa)+101.3) =101 _3]xAction cycle times (/min)

FEE& Weight Table

HZ Model aAc-45 aAc-60 aAc-85 aAc-105 | aAc-125 | aAcc-140| aAc-160 | aAc-190 | aAc-210 | oAc-240
E# Weight(DA) 20 30 6.4 9.7 14.1 209 299 81.0 926 1257
E# Weight(SR) 241 31 6.8 10.5 15 5 232 336 87.7 102.2 1395

eaf i@l  Operation Time

#S Model aAc-45 aAc-60 aAc-85 oAc-105 | aAc-125 | oAc-140 | aAc-160 | aAc-190 | aAc-210 | oAc-240
0°- 90°(DA) 0.5 07 0.9 1:5 2 2.5 3.5 4 45 6
90°- 0°(DA) 0.5 07 08 115] 2 A5 3 = 5 6
0°- 90°(SR) 1 15 2 25 3 3.5 4 5 6 8
90°- 0°(SR) 0.5 08 1 1 1.5 15 2 4 5 5

HATHRENEN B 5 BEE . BER. SESRGNCVE, SRED, AHSEEEX.

AT LURIEE P ERE HI SIL ke T8 e {Esh B &),

The operating time of the actuators depends on the CV values of the solenoid valves, regulator valves, pipes. It depends on the air
supply, operating load and so on.

We can custom the size of the holes to meet the require of the operating time of the actuators.

_10_



m

CHRTIRCATION

ya A\
I1SO 9001: 2015

T

C€

L C | E SIL3 IEC 61508
ATEX 2014/34/EU

EHHE X SEE IR TEFERRAF
WUXI STHANS PNEUMATIC VALVE ACTUATORS MAKER CO.,LTD.
it EHHIEEEN TIVEHLE 48 S @4 (P.C):214112
Add: No.48, Xihong Road, Meicun Industrial Park, Xinwu District,
Wauxi City, Jiangsu Province, China

B3 (Tel): 0086-510-81150880

{%H (Fax): 0086-510-81150880

Email: info@sthans.com.cn  Website: http://www.sthans.com




